(4) 24195 24195

Section-D B. Tech. 4th Semester (Civil) Examination,
8.  Analysis the truss by using method of joints as shown | May-2016
inFig. 1.5 20 | STRUCTURAL ANALYSIS-II
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l - Note: Q. No. 1 is compulsory. Students have to attempt
G five questions in total at least one question from
Fig. 1.5 - each section. All questions carry equal marks.
9. Analysis the space frame as shown in Fig. 1.4 by the ‘ 1. (a) Findthe deflection at the free end of the cantilever
method of tension coefficient. 20 beam with varying load as shown in fig. 1.1 by Strain
D E
>80 kN ¢ Energy method.
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(b) Derive an expression for the change in a suspension

cable due to temperature stress.
(¢) Define Castigliano’s 2" theorem.
(d) Shear centre for channel

(e) Statically determinate and indeterminate

structures.
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